VQ Series Triple Pump Ordering Code
KCL VQ R3I=FRETEEES|

DVQ4325

Weight E&8:
Flange Type ;EREHY: 92 Kg
Foot Type RalEEEY: 123 Kg

DVQ4325 - 237 - 116 - 52 - F - R-A A A A - 01
@® @ ® @ 6 ® OO0 @
(D——  Series Number -----—-————————————- DVQ 4325
BUSR
(2@—— Pl:Discharge Port ----------------- 136,156,189
Shaft End c.c /rev 200,216,237
P1HMO (NS EE)
(3——  P2:Discharge Port --------------—-- 60,66,76,82,88
Shaft End c.c /rev 94,108,116,125
P2H5mO
(4)—— P3:Discharge Port -------—--—-————- 18,22,26,32.,38,43
Shaft End c.c /rev 47,52,60,65,75
P3HAO (EFEREE)
(5)—— Mounting Type - F:Flange Type ARREY
i L:Foot Type FIEERY
(6—— Shaft Rotation oo R:Clockwise IIEBF$t
(view from Shaft End) L:Anti-Clockwise [ZRFEt
=E (s EE)
(7)——  Discharge Port Position - A:Upward (normal) [
(P1) Shaft End Pump B:Downward [@F
(view from Shaft End) R:Right Hand %2
PO (FeNa 5 E) L:Left Hand 78
(®——  Suction Port Position -~ A:Upward (normal) [& £
(view from Shaft End) B:Downward @F
ERO GINERT5EE) R:Right Hand 558
L:Left Hand 7552
(9—— Discharge Port Position ----------- A:Upward (normal) [ &
(P2) Shaft End Pump B:Downward &
(view from Shaft End) R:Right Hand %;8
P2iimO (feNes 5 E) L:Left Hand 7538
(0—— Discharge Port Position ---------- A:Upward (normal) [t
(P3) Shaft End Pump B:Downward @
(view from Shaft End) R:Right Hand 738
P3O (HE 75 E) L:Left Hand 738
()—— Shaft Type -------mmmev 01
INERFEER




K C L VQ Series Triple Pump Dimensional Drawing
VQ RII=FRNERTHE

DVQ4325 . = g 4-022 HOLES
==
T R IR = 0 43 SPOTFACER 1 DEEP
\ | - | E
; ol S s
2 :
Py — s
R — «
SUCTION PORT @ 101.6 4 |
4-M16x2.0P DEEP 1 +0
6x2.0 9 30 12770
DISCHARGE PORT P2 030.5 I (T T
4-M10x1.5P DEEP 19 o o2 1143 |39
- H o F<
9 g 185
NG o e o
N Y 1/ o : \
I T Kj <=
: / g& Foot Type (BJEEEY)
\ IR — A
26.2 |-
77.8 | 35.7] DISCHARGE PORT P1 @38

DISCHARGE PORT P3 @ 24.5
4-M10x1.5P DEEP 19

4-M12x1.75P DEEP 20

113 166 142 429 83

+0

+0
42.36 018

0 38.1.0.021

140

119
92
75
+
wn
W
+0
0.05

228.6

01524

o




